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RTB

host nane RTB

!

interface GigabitEthernet0/0 ip address 10.3.3.1 255.255.255.0 duplex auto speed auto media-type rj45 ! interface GigabitEthernet0/1 ip adc
10.2.2.3 255.255.255.0 duplex auto speed auto media-type rj45

!

router ospf 1 network 10.2.2.0 0.0.0.255 area 1

!

router bgp 100

redistribute ospf 1

!-- This redistributes only OSPF intra-area and inter-area routes into BGP.

nei ghbor 10.3.3.2 renote-as 200
!

end

RTB#show ip route
Codes: L - local, C- connected, S - static, R- RIP, M- nobile, B - BGP
D- EIGRP, EX - EIGRP external, O- OSPF, IA - GSPF inter area
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
El - OSPF external type 1, E2 - OSPF external type 2
i - 1S1S su- IS IS sunmary, L1 - IS IS level-1, L2 - IS IS level-
ia- IS-ISinter area, * - candidate default, U - per-user static route
0 - ODR, P - periodic downl oaded static route, H- NHRP, | - LISP
a - application route
+ - replicated route, %- next hop override, p - overrides fromPfR

Gateway of last resort is not set

10.0.0.0/8 is variably subnetted, 6 subnets, 2 nasks
C 10.2.2.0/24 is directly connected, G gabitEthernet0/1
L 10.2.2.3/32 is directly connected, G gabitEthernet0/1
C 10.3.3.0/24 is directly connected, G gabitEthernet0/0
L . 3.
O

10. 1/32 is directly connected, G gabitEthernet0/0
I A 10.108.1.0/24 [110/3] via 10.2.2.2, 00:08:38, G gabitEthernet0/1
(0] 10.108.2.0/24 [110/2] via 10.2.2.2, 00:39:13, GgabitEthernet0/1
O E2 192.168.1.0/24 [110/20] via 10.2.2.2, 00:07:39, GgabitEthernet0/1
O El1 192.168.2.0/24 [110/23] via 10.2.2.2, 00:07:38, GgabitEthernet0/1

CtRE{ BE OSPF L5 Z=20F "= & L|Ct.

RTB#show ip bgp



BGP table version is 12, local router IDis 10.3.3.1

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale, mmltipath, b backup-path, f RT-Filter,
X best-external, a additional-path, ¢ Rl B-conpressed,
t secondary path,

Oigin codes: i - IGP, e - EGP, ? - inconplete

RPKI validation codes: V valid, | invalid, N Not found

Net wor k Next Hop Metric LocPrf Weight Path
*> 10.2.2.0/24 0.0.0.0 0 32768 ? *> 10.108.1.0/24 10.2.2.2 3 32768 ? *> 10.108.2.0/24 10.2.2.2
2 32768 ?
RTB#
2t E{ C= BGPOX CH& B2 & Sf&gfLich

RTC#show ip route
Codes: L - local, C- connected, S - static, R- RIP, M- nmobile, B - BGP
D- EIGRP, EX - EIGRP external, O- OSPF, |A - OSPF inter area
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
El - OSPF external type 1, E2 - OSPF external type 2
i - 1S1S su- ISISsumary, L1 - IS IS level-1, L2 - IS IS level-
ia- IS-ISinter area, * - candidate default, U - per-user static route
0 - ODR, P - periodic downl oaded static route, H- NHRP, | - LISP
a - application route
+ - replicated route, %- next hop override, p - overrides fromPfR

Gateway of last resort is not set

10.0.0.0/8 is variably subnetted, 5 subnets, 2 nmasks
B 10.2.2.0/24 [20/0] wvia 10.3.3.1, 00:07:07
C 10.3.3.0/24 is directly connected, G gabitEthernet0/0
L 10.3.3.2/32 is directly connected, G gabitEthernet0/0
B 10.108.1.0/24 [20/3] wvia 10.3.3.1, 00:07:07 B 10.108.2.0/24 [20/2] via 10.3.3.1, 00:07:07
RTC#
RTC#show ip bgp
BGP table version is 8, local router IDis 10.3.3.2
Status codes: s suppressed, d danmped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale, mmultipath, b backup-path, f RT-Filter,
X best-external, a additional-path, ¢ Rl B-conpressed,
t secondary path,
|

Oigin codes: - 1GP, e - EGP, ? - inconplete
RPKI validation codes: V valid, | invalid, N Not found
Net wor k Next Hop Metric LocPrf Weight Path

*> 10.2.2.0/24 10.3.3.1 0 0 100 ? *> 10.108.1.0/24 10.3.3.1 3 0 100 ? *> 10.108.2.0/24 10.3.3.1
2 0 100 ?
RTCH#

OSPF Q|% (5% 1 2 2) Z=20 BGPE AMuiX

O| external 7| =2 &7 redistribute OF2HO1 B2 router bgp OSPF 2|5 ZZE BGP=Z AHHHZ &fL|CI.
E A83510q external 7|2 E0= Al 7HK| t'EH A|'°"0| J&LCt.

. Q|8 Type-1 & Type-2 25 RHHIZ (7|2 Z))
- AHHHE &A1
. M Z f%-

of7|of dY¥E CHZE |3 o|M R=oiM BHEES =T LICH



RTB( confi g-rout er) #router bgp 100
RTB(confi g-rout er)#redistribute ospf 1 match external

O| 2t E B ZAm|adyo|MoiHE OSPF QIF B2 RHHHZ 3t 1 Type-13} Type-2&= 25 AHHHE
gt

RTB

hostname RTB ! interface GigabitEthernet0/0 ip address 10.3.3.1 255.255.255.0 duplex auto speed auto media-type rj45 ! interface
GigabitEthernet0/1 ip address 10.2.2.3 255.255.255.0 duplex auto speed auto media-type rj45 ! router ospf 1 network 10.2.2.0 0.0.0.255 ar
router bgp 100

redistribute ospf 1 match external 1 external 2

!-—-- This redistributes ONLY OSPF External routes, but both type-1 and type-2.

nei ghbor 10.3.3.2 renote-as 200
!

end

ﬁ'_' 4-U-|3-E‘|| 0|A=| 0‘” match external 1 external 2 |°=IE—=||%|_|' %IE.('; i redistribute ospf 1 match external 0| t
OSPF7} RSS2 FIIE|7| IfE 0] HAXE 'lol_l SAM QIL|C} external 1 external 2 A& LICH OSPF
external 1 2! external 2 ZZ22} onHIH ZZE BGPZ RHH{=ZEFLIC}.

2l E|{ BE OSPF 2|5 ZA=Z0F iU Z & L|C}.

o

RTB#show ip bgp

BGP table version is 25, local router IDis 10.3.3.1

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale, mnultipath, b backup-path, f RT-Filter,
X best-external, a additional-path, ¢ Rl B-conpressed,

t secondary path,

i

Oigin codes: - IGP, e - EGP, ? - inconplete
RPKI validation codes: V valid, | invalid, N Not found
Net wor k Next Hop Metric LocPrf Weight Path
*> 192.168.1.0 10.2.2.2 20 32768 ?
*> 192.168.2.0 10.2.2.2 23 32768 ?
RTB#

2t E{ C= BGPO|A CtE & OSPF 2| Z=0of CHal| && Lt

RTC#show ip route
Codes: L - local, C- connected, S - static, R- RIP, M- nobile, B - BGP
D- EIGRP, EX - EIGRP external, O- OSPF, |IA - OSPF inter area
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
El - OSPF external type 1, E2 - OSPF external type 2
i - I1S1S su- ISISsumary, L1 - IS IS level-1, L2 - IS IS level-
ia- IS-ISinter area, * - candidate default, U - per-user static route
0 - ODR, P - periodic downl oaded static route, H- NHRP, | - LISP
a - application route
+ - replicated route, % - next hop override, p - overrides fromPfR

Gateway of last resort is not set

10.0.0.0/8 is variably subnetted, 2 subnets, 2 masks



C 10.3.3.0/24 is directly connected, G gabitEthernet0/0
L 10.3.3.2/32 is directly connected, G gabitEthernet0/0
B 192.168.1.0/24 [20/20] via 10.3.3.1, 00:02:16 B 192.168.2.0/24 [20/23] via 10.3.3.1, 00:02:16

RTCHshow ip bgp

BGP table version is 21, local router IDis 10.3.3.2

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale, mmltipath, b backup-path, f RT-Filter,
X best-external, a additional-path, ¢ Rl B-conpressed,

t secondary path,

i

Oigin codes: - 1GP, e - EGP, ? - inconplete

RPKI validation codes: V valid, | invalid, N Not found

Net wor k Next Hop Metric LocPrf Weight Path
*> 192.168.1.0 10.3.3.1 20 0 100 ? *> 192.168.2.0 10.3.3.1 23 0 100 ?
RTCH#

OSPF 2|8 Type 1 EE= Type 2 Z20F BGPE RiH{Z

Cl2 HES U2ABILICE. router bgp 100 B S AlS604 OSPF External 1 Z22F RHH = & L|C}.

RTB(config)#router bgp 100
RTB(config-router)#redistribute ospf 1 match extermal 1

0| RTB(Configuration Router B) BGP El|0|20| = 2|F 1 ZE20 BGPE AHHIZ & =+ /U2
CIE 2= OSPF ZZ& BGPZ MU ZZ|X| ot € EoiELICH

RTB#show ip bgp

BGP table version is 28, local router IDis 10.3.3.1

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale, mnultipath, b backup-path, f RT-Filter,
X best-external, a additional-path, ¢ Rl B-conpressed,

t secondary path,

i

Oigin codes: - 1GP, e - EGP, ? - inconplete
RPKI validation codes: V valid, | invalid, N Not found

Net wor k Next Hop Metric LocPrf Weight Path
*> 192.168.2.0 10.2.2.2 23 32768 ?
RTB#

g2 o Z ofefol o] BEES UZAELICH router bgp 100 OSPF 2|5 2 ZZF RHHHE 524 2t
E{ Bo|AM CtSE =& Lct

RTB(config)#router bgp 100
RTB(config-router)#fredistribute ospf 1 match external 2

OSPF LiE 8! 2| ZHAZ E BGPZ A{HHE

0| Z2 2 E OSPF ZZ27| BGPO| AHHHZ &| 10 internal Z! external & LH2| 7|/ E redistribute ospf, O
E|'-c|’-E'| B ZdI|aaio|Mol| EAIE CHE

RTB

hostname RTB ! interface GigabitEthernet0/0 ip address 10.3.3.1 255.255.255.0 duplex auto speed auto media-type rj45 ! interface
GigabitEthernet0/1 ip address 10.2.2.3 255.255.255.0 duplex auto speed auto media-type rj45 ! router ospf 1 network 10.2.2.0 0.0.0.255 ar



router bgp 100
redistribute ospf 1 match internal external 1 external 2

!--- This redistributes all OSPF routes into BGP.
nei ghbor 10.3.3.2 renote-as 200

I
end

n L
X o

CA| R84 E 2| K|t external 2 W H|ELIC} external 1 external 2 A& LICH. BGPE AHHHZ & E7 9
2E X|H5X| gt & ol HAQLICH Hu|ago|Md HZEo| 2t 2EH EIRE{ BE ZE OSP
EE MHHEStD 2t RE|{ C= BGPUIM RE BEE st4 57| AlZHEHLICE

RTB#show ip bgp

BGP table version is 6, local router IDis 10.3.3.1

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale, mmultipath, b backup-path, f RT-Filter,
X best-external, a additional-path, ¢ Rl B-conpressed,
t secondary path,

Oigin codes: i - IGP, e - EGP, ? - inconplete

RPKI validation codes: V valid, | invalid, N Not found

Net wor k Next Hop Metric LocPrf Weight Path

*> 10.2.2.0/24 0.0.0.0 0 32768 ? *> 10.108.1.0/24 10.2.2.2 3 32768 ? *> 10.108.2.0/24 10.2.2.2
2 32768 ? *> 192.168.1.0 10.2.2.2 20 32768 ? *> 192.168.2.0 10.2.2.2 23 32768 ?
RTB# RTC#show ip route Codes: L - local, C - connected, S - static, R - RIP, M - mobile, B - BGP D - EIGRP, EX - EIGRP
external, O - OSPF, IA - OSPF inter area N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2 E1 - OSPF external
type 1, E2 - OSPF external type 2 i - IS-IS, su - IS-IS summary, L1 - IS-IS level-1, L2 - IS-IS level-2 ia - IS-IS inter area, * -
candidate default, U - per-user static route o - ODR, P - periodic downloaded static route, H - NHRP, | - LISP a - application route +
- replicated route, % - next hop override, p - overrides from PfR Gateway of last resort is not set 10.0.0.0/8 is variably subnetted, 5
subnets, 2 masks B 10.2.2.0/24 [20/0] via 10.3.3.1, 00:03:27
C 10.3.3.0/24 is directly connected, G gabitEthernet0/0
L 10.3.3.2/32 is directly connected, G gabitEthernet0/0
B 10.108.1.0/24 [20/3] via 10.3.3.1, 00:03:27 B 10.108.2.0/24 [20/2] wvia 10.3.3.1, 00:03:27 B
192.168.1.0/24 [20/20] via 10.3.3.1, 00:03:27 B 192.168.2.0/24 [20/23] via 10.3.3.1, 00:03:27
RTC#

OSPF NSSA-2|F ZZ2& BGPZE R{Hix

O|= NSSA ZAZ20 BGPE MU ZE|= S8 A< lLICt 0| B2 = Redistribution of OSPF
External (Type 1 and 2) Routes into BGP(OSPF 2|5 (Type 1 &! 2) ZZ 0t BGPZ AHHHE) AIMof|
AMHEE 222 01 FAFRLICH S8t X10|2 OSPF7I O|A| 2|8 ZE0t = lst= Zd0]| ofLzt
NSSA 2|8 ZA=z2et dx|&tCt= ZALICH 2I*E Bl 2t E H|o|20= CHE2t 22 OSPF
NSSA-2|8 ZAZ 7} EAIELIC

RTB#show ip route
Codes: L - local, C - connected, S - static, R- RIP, M- nobile, B - BGP
D- EIGRP, EX - EIGRP external, O- OSPF, |A - OSPF inter area
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
El - OSPF external type 1, E2 - OSPF external type 2
i - IS1S, su- I1SI1S summary, L1 - I1S-I1Slevel-1, L2 - IS 1S level-2
ia- IS-1Sinter area, * - candidate default, U - per-user static route
0 - ODR P - periodic downl oaded static route, H- NHRP, | - LISP
a - application route
+ - replicated route, %- next hop override, p - overrides fromPfR


https://www.cisco.com/c/ko_kr/support/docs/ip/border-gateway-protocol-bgp/5242-bgp-ospf-redis.html#redistributionofonlyospfexternal
https://www.cisco.com/c/ko_kr/support/docs/ip/border-gateway-protocol-bgp/5242-bgp-ospf-redis.html#redistributionofonlyospfexternal
https://www.cisco.com/c/ko_kr/support/docs/ip/border-gateway-protocol-bgp/5242-bgp-ospf-redis.html#redistributionofonlyospfexternal

Gateway of last resort is not set

10.0.0.0/8 is variably subnetted, 6 subnets, 2 masks

10.2.2.0/24 is directly connected, G gabitEthernetO/1

10.2.2.3/32 is directly connected, G gabitEthernet0/1

10.3.3.0/24 is directly connected, G gabitEthernet0/0
L 10.3.3.1/32 is directly connected, G gabitEthernet0/0
O IA 10.108.1.0/24 [110/3] via 10.2.2.2, 00:05:00, GigabitEthernet0/1 O 10.108.2.0/24 [110/2]
via 10.2.2.2, 00:05:00, GigabitEthernet0/1 O N2 192.168.1.0/24 [110/20] via 10.2.2.1, 00:10:14,
GigabitEthernet0/1 O N1 192.168.2.0/24 [110/22] via 10.2.2.2, 00:03:43, GigabitEthernet0/1
RTB#

O| HES= Ctolo{aR2 o] B0l AFSEILICE.

oo

T S
s H2

“7 yez168.4.0024
o 168.1.

f - 2
< ADA0B.2.0V24  ERSETOEL Y

- i

10.2.2.0/24
192.168.2.0.24

ABR ' ™
10.108.1.0024 e

- Areal = T el e

BGP £EZ ZX| Boil OSPF XHHY %=

HES3 Clolo{2242 2t2RE{B7I OSPF N1 U N2 Z2E 2 F £ AIES Ho{FELICH 7|2 5%
2 N1 Z22} N2 BZE nssa-external 7| HE 7} AP%EMEL 2t E BO| Ol AL gio|Md2 Sl
OSPF N2(192.168.1.0/24) 2! OSPF N1(192.168.2.0/24) ZZE BGPZ Mu{Z & £ Q&LICH

RTB

hostname RTB ! interface GigabitEthernet0/0 ip address 10.3.3.1 255.255.255.0 duplex auto speed auto media-type rj45 ! interface
GigabitEthernet0/1 ip address 10.2.2.3 255.255.255.0 duplex auto speed auto media-type rj45 ! router ospf 1

area 1 nssa network 10.2.2.0 0.0.0.255 area 1
!

router bgp 100
redistribute ospf 1 match nssa-external 1 nssa-external 2

I--- This redistributes only OSPF NSSA-external routes Type-1 and Type-2 into BGP.
nei ghbor 10.3.3.2 renote-as 200

|
end

1 OSPF 2|8 ZAm|ado|Mat ofzt7FK|Z 0| Z41|28|0| 0| E AIEILICH mateh nssa-
external 1 nssa-external 2 |°=IE=| [l EH 4% redistribute ospf 1 match nssa-external. 0| o OSPF7|' X|'EoE



7HE|Z| 20 XA "HO._l FAM QIL|C} nssa-external 1 nssa-external 2 AU S LICH. OSPF N1 2! OSPF
N2 Zzet Yx|stz éE% BGPZE RHH{E EL|CH.

2t E{ BOAM ZAZ|[32el|0[ME 2488t  OSPF NSSA 2|f Z2& MujE st 22 E{ C7t BGPO|
A OSPF NSSA 2| Bz & &L

RTB#show ip route
Codes: L - local, C- connected, S - static, R- RIP, M- nobile, B - BGP
D- EICRP, EX - EIGRP external, O- OSPF, |IA - OSPF inter area
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
El - OSPF external type 1, E2 - OSPF external type 2
i - 1S1S su- ISISsumary, L1 - IS IS level-1, L2 - IS IS level-
ia- IS-ISinter area, * - candidate default, U - per-user static route
0 - ODR, P - periodic downl oaded static route, H- NHRP, | - LISP
a - application route
+ - replicated route, %- next hop override, p - overrides fromPfR

Gateway of last resort is not set

10.0.0.0/8 is variably subnetted, 6 subnets, 2 masks
C 10.2.2.0/24 is directly connected, G gabitEthernet0/1
L 10.2.2.3/32 is directly connected, G gabitEthernet0/1
C 10.3.3.0/24 is directly connected, G gabitEthernet0/0
L 10.3.3.1/32 is directly connected, G gabitEthernet0/0
o 10.108.1.0/24 [110/3] via 10.2.2.2, 00:09:40, G gabitEthernet0/1
0] 10.108.2.0/24 [110/2] via 10.2.2.2, 00:09:40, G gabitEthernet0/1
O N2 192.168.1.0/24 [110/20] via 10.2.2.1, 00:14:54, GigabitEthernet0/1 O N1 192.168.2.0/24
[110/22] wvia 10.2.2.2, 00:08:23, GigabitEthernet0/1
RTB#
RTB#show ip bgp
BGP table version is 17, local router IDis 10.3.3.1
Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale, mmultipath, b backup-path, f RT-Filter,
X best-external, a additional-path, ¢ Rl B-conpressed,
t secondary path,
i

Oigin codes: - 1GP, e - EGP, ? - inconplete
RPKI validation codes: V valid, | invalid, N Not found
Net wor k Next Hop Metric LocPrf Weight Path

*> 192.168.1.0 10.2.2.1 20 32768 ? *> 192.168.2.0 10.2.2.2 22 32768 ?
RTB# RTC#show ip route
Codes: L - local, C- connected, S - static, R- RIP, M- nobile, B - BGP
D- EICRP, EX - EIGRP external, O- OSPF, |IA - OSPF inter area
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
El - OSPF external type 1, E2 - OSPF external type 2
i - 1S1S su- ISISsumary, L1 - IS IS level-1, L2 - IS IS level-
ia - IS-ISinter area, * - candidate default, U - per-user static route
0 - ODR, P - periodic downl oaded static route, H- NHRP, | - LISP
a - application route
+ - replicated route, %- next hop override, p - overrides fromPfR

Gateway of last resort is not set

10.0.0.0/8 is variably subnetted, 2 subnets, 2 masks
C 10.3.3.0/24 is directly connected, G gabitEthernet0/0
L 10.3.3.2/32 is directly connected, G gabitEthernet0/0
B 192.168.1.0/24 [20/20] wvia 10.3.3.1, 00:01:29 B 192.168.2.0/24 [20/22] wvia 10.3.3.1, 00:01:29
RTC#
RTC#show ip bgp



BGP table version is 41, local router IDis 10.3.3.2

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale, mmltipath, b backup-path, f RT-Filter,
X best-external, a additional-path, ¢ Rl B-conpressed,

t secondary path,

i

Oigin codes: - 1GP, e - EGP, ? - inconplete

RPKI validation codes: V valid, | invalid, N Not found
Net wor k Next Hop Metric LocPrf Weight Path
*> 192.168.1.0 10.3.3.1 20 0 100 ? *> 192.168.2.0 10.3.3.1 22 0 100 ?
RTCH#

OSPF External Z22} 07t X|[Z2 OSPF N1 Z2 Bt AHf25t2{™ 2t E BL| 2HE{ BGP 100 Of
cfiol Ot S S-S =TI

RTB(config)#router bgp 100
RTB(confi g-rout er)#redistribute ospf 1 match nssa-external 1

!--- This redistributes only OSPF NSSA-external Type-1 routes into BGP.

OSPF N2 A28 RiHi Z 524 2t Ef B2l 2H9E{ BGP 100 of2Hoil Tt BdS Y2dgrLch

RTB(config)#router bgp 100
RTB(config-router)#redistribute ospf 1 match nssa-external 2

!-—— This redistributes only OSPF NSSA-external Type-2 routes into BGP.

At 1: Route-Maps= OSPF Type 1/25 BGPE AHHHEZ 5= Ol = AF2E 4= Q& LICH REAl
gt LI 2 BGPOAM OSPF E2 BE MEHEE EASHMAIL.

OSPFO|AM A{HiZ SM =

& Zm[aefo|ld HEo| Aduasolde HEste Y- E olsliete X0l ELELICH match &
Mol e M BE2 ol BHEE FHo{MX| gt 07]of| F=IHELICH Ch5 ool ME Z T 2e ol
BE ARELTE IHI:IHiOﬂ o JFES £ & UK dFELICH

R4#configure terminal

R4(confi g) #router bgp 100
R4(config-router)#redistribute ospf 1 match internal
R4(config-router)#+z

!--- Initially, you redistribute internal OSPF routes into BGP 100. R4#show run | include
redistribute ospf
redistribute ospf 1 match internal
R4#configure terminal
R4(confi g) #router bgp 100
R4(config-router)#redistribute ospf 1 match external
R4(config-router)#4z

!--- With this second command, you tell BGP to also redistribute external OSPF routes. Ri4#show
run | include redistribute ospf
redistribute ospf 1 match internal external 1 external 2
RaA#
R4#configure terminal
R4(confi g) #router bgp 100
R4(config-router)#no redistribute ospf 1 match external 2


https://community.cisco.com/t5/networking-knowledge-base/redistribute-ospf-e2-routes-in-bgp/ta-p/3115474

R4(config-router)#+z

!-—- With this no command, you only disable the redistribution of external type 2 into BGP.
!--- All other types of routes previously configured remain. R4#show run | include redistribute
ospf

redistribute ospf 1 match internal external 1

!--- As you can see, internal and external type 1 remain. R4#configure terminal
R4(confi g) #router bgp 100

R4(config-router)#no redistribute ospf 1 match internal external 1
R4(config-router)#+z

!--- Now, with this no command, which includes all configured keywords, it 1is important to note
that you

!--- still do not disable the redistribution fully. you only removed the keyword. After this,
!--- the IOS still acts as default-redistributing internal routes only. R4#show run | include
redistribute ospf

redistribute ospf 1

R4#configure terminal

R4(confi g) #router bgp 100

R4(confi g-router)#no redistribute ospf 1

!--- Always use the previous command in order to completely disable redistribution. R4(confi g-
router)# Az

Rd#show run | include redistribute ospf
R4#

iBGP &f& Z= & EIGRP & OSPF& #Z2 IGPE R{HIZ & = ]

Route Redistribution &t ZT2EZ 2 AI2510{ & &58t ZEECIE IR Z2EZE Mutst=
Cll AFSELICH BGP7I IGPE MU Z TP eBGPOIM &8 ZZ 2 RHHZ EILICH 2FE{of &S
£l LI iBGP(Border Gateway Protocol) & ZZ £ 2t Fx Mg 9|57 fI6H IGPH =

U= K| ef&LICH.

7|2Mo 2 IGPE 2| iBGP AMHHE = HIEA&SHELICH BZ bgp redistribute-internal W& 2 AHE 5104
iBGP B2E IGPZ AHHEZ & £ Q&LICH BE X2 IGPE AI25tHM EX B2 E AHHiEZStE
ol & olatoF gLct.

iBGP A2 E OSPFZE MuHEsI7| 98t MZ ZHu|28|o|A0]| o47|of| EA|E/L|C}.

Rout er (conf i g) #router bgp 65345

Rout er (confi g-router) #bgp redistribute-internal
1

Rout er (confi g) #router ospf 100
Rout er (confi g-rout er) #redistribute bgp 65345 subnets

#1:iBGP A2 E LT HO|EQO| Z2EZZ A{HHZ 5 AS(Autonomous System) LH 01| Aq
2t Ry ddle & JU&LICH HESHK| L&LICH IGPE 7= HE E Ho{ste{H
A2 L& ~dsHof gLt

OSPF 7| Z2E BGPZ RiHHE



7|2 Z2E BGPZ AHHE 52{™ network 2! default-information originate. O| 0{l0{lA{= OSPF 7|& ZZ7}
BGPZ AHHEZEL|Ct O] &2 A2 ME PHE EE ACLOM 5185t 7|8 UESZE HIE
s wAloz 28,

route-nap map_default_only permt 10

match ip address acl _default_only
|

ip access-list standard acl _default_only

permit 0.0.0.0
|

router bgp 64601
network 0.0.0.0
redistribute ospf 1 route-nmap nmap_default_only

default-information originate
|

!-—— Distributes the default route in bgp
ZAn|ae|o|M F 2+2] bgp MME R[ZLICH clearipbgp * BHES A LICE.

el HE

. OSPF: FAQ(AtF E&= EF)
. FAQ BGP
. 7|1& x| 2! £ M - Cisco Systems



https://www.cisco.com/c/ko_kr/support/docs/ip/open-shortest-path-first-ospf/9237-9.html
https://www.cisco.com/c/ko_kr/support/docs/ip/border-gateway-protocol-bgp/5816-bgpfaq-5816.html
https://www.cisco.com/c/ko_kr/support/index.html?referring_site=bodynav

o] HHofl &5t
Cisco= ™ M| AFEXI0f| A CIe 012 X 2 i% M5

b7 loi 71A HE T|s0 2y
HAS HASI0 0| ZME HAMSLICL OfF 2| FEO| =2 7|H HIol2t: ME HATIS| H
o A2 0tE MESIK|= & LICE Cisco Systems, Inc.= 0] Z2 tHHof| CHal| of st MU
XXl 2o eat 2 72 EM(E3 M3 E)E &xe AS AL CHL



